Y7 Understand and use Algebraic Notation
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What do | need to be able to i @I‘"’—

|I Function: a relationship that instructs how to get from an input to an output

I I
I I
I I
| M o I Input: the. number/ symbol put into a function |
| Bythe end of this unit you should be able | | Output: the number/ expression that comes ot of a function I
| to 7 | Operation: & mathematical process I
: : Be abler to Use nierse operations and (| verse: the operation that undoes what was done by the previous operation (The opposite. operation) I
I operation famies” || Commutative: the order of the operations do not matter :
| Be abke o substiute I”IO snge and || Supstitute: replace. one varable vith & number or new variable |
| two step function machines |7 Expression: a maths sentence with a minimum of two numbers and at. least one math operation (no equas sign) |
| * Findfunctions from expressons || Evaluate: work out |
| * Form sequences from expressions I| Linear: the dfference between terms increases or decreases by the same value each time |
| : Represent furchors grophcaly ) Seaence loms o nombess pi na pre-deoided oy |
_____ e N T T R S L T ST T T T e |
: Sindle. furction machines | : Using ketters to represent numbers |: Single function machines (algebra) |
I I |
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| The number that goes IN The nurber that comes ot | | 3xD I yx 4 I, 20 I o —» 10 —> (0 [
| =
I This box gves the catulation nstruction : | 9«3 I 4xy ! h :: 3 —> —> 30 :
| | 4y f u
I
| I | Oddtion and I I
[ T an I'| mutipication can be I A0 shared nto I -~ 10 [
I ot m%%?m emIJI)IIIPUI I} dorenayoder 4 potsof W rumberof | To find the input from the output |
| operatl | | Commutatue cabubtons 9005 I!_ Use the INVERSE operation |
________________________________ ] T ” "™ : R ______________________________1
| Find functions from expressions | : Substitution into expressions i |  Two step function machines |
| | y I |
OUTPUT | 4y €——— 4bisofy |
I INPUT [ | I
| no—» 7 TP |: f y = 7 this means the expression is asking for 4 1} g_p — — g |
| | ots of 7 I = S
: Find the relatiorship between the input and the output : : 4xT R 747477 R Tx4 - 2% : : CatUIaIethek—_m/be at the end:f_e‘m/h operation :
Sometimes there can be a number of possible furctions | | I
, For the nput use the INVERSE operations [
: eg +7x or X 2 could both be solutions to the above I | e y-d I ’ e |
| function machine [ L “=d-5 L] I
________________________________ 0
________________________________________________ .
I Two step fuction machines (alaebra) ': Find functions from expressions |
I
IMPORTONT |
I i ; o e G+ 4 Cobuie e e o e I| NOTE: the dfference n the two expressons |
: X end of each operation I : f did by :
-~ *— | [ gdd 5 then
- -4 | then add 5 |
: 5 | dvice by 3 |
| ¢4 7 NOTE I |
¢ —p| +4 |—p| x5 |—» 5(0*4) The. whoke first autput is | f+ 5 —» .3 f_’ +3 _> +5
I hpegp | Upkdbyd |: |
: ?14 +I‘5 | | Sometimes i helps to try to explan the expression in word — and consider what. has happered to the input :
e e _____________—___________—_—_—_________—_________—_—_.
| Substiution o an expression 11 Representing furctions graptical 735 i v v | |
[
: Put the expression into a function machine. [l Teke te frcton ot gererte aseqpence Jx + 3) Powers ﬁfﬁﬂvﬁeﬂ; .dII\(EFEI’III} :
. haped araphs
. A ) CI A E g () g Y )
I G&II"ZHIIOIIZ EIPUI ffx=10 : I To represent g{\:phcal; the nput becomes x co-ordingtes 14 - :
I 0+3- 13 B3x2-26 1 and the. output becomes y co-ordnates :; . I
o e 9’2&*3‘I s | ESl. |
| Forming a sequence | g, - =) | weurw | 1 /23 6 we |
I a5 ] :IOUTPUTIQJIB o) @ : Bmsatmmmr:
INPUT . ayaph yob can predict
| The. substitution s the. ‘npul” vake. | ther vale |
QUTPUT| & | 10 | 12 | € This becomes a co-ordnate pair 01 2 34567 olner vaues
| I I I I Tre. OUTPUT becomes the sequerce. | | (2, 100 sl on e U :
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